
Conversion de Fractions (F)
Pour chaque nombre décimal ci-dessous, trouvez la fraction qui lui correspond.

0.25 = 0.6 = 0.8571 =

0.66667 = 0.92308 = 0.4706 =

0.6 = 0.88889 = 0.75 =

0.05 = 0.84615 = 0.1667 =

0.41667 = 0.28571 = 0.3636 =

0.33333 = 0.83333 = 0.1 =
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Conversion de Fractions (F) Solutions
Pour chaque nombre décimal ci-dessous, trouvez la fraction qui lui correspond.

1 3 6
0.25 = — 0.6 = — 0.85714 = —

4 5 7

2 12 8
0.66667 = — 0.92308 = — 0.47059 = —

3 13 17

12 16 3
0.6 = — 0.88889 = — 0.75 = —

20 18 4

1 11 1
0.05 = — 0.84615 = — 0.16667 = —

20 13 6

5 4 4
0.41667 = — 0.28571 = — 0.36364 = —

12 14 11

4 5 2
0.33333 = — 0.83333 = — 0.1 = —

12 6 20
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